Chapter 3

Exercise 6

Calculate the total consideration for a transaction of exactly £1m nominal in each of the following gilts, dealt on Monday 4 September 2006 for settlement on Tuesday 5 September. 

	Issue
	Clean price
	Next coupon date

	4% Treasury 2009
	98.17
	7 September 2006

	4¾% Treasury 2010 
	100.04
	7 December 2006

	5% Treasury 2025
	108.11
	7 September 2006

	6% Treasury 2028
	124.48
	7 December 2006

	4.125% Index-Linked 2030
	235.44
	22 January 2007


Note for the purposes of the Index-Linked issue that the RPI for May 2006 was 197.7.  

Solution to Exercise 6

Conventional issues: see next page

Index-linked issue:

The rate of interest for the semi-annual coupon payment due in January 2007 is calculated as:

4.125%

x
197.7 (i.e. RPI for May 2006) 

   2



135.1 (i.e. RPI for October 1991)
= 3.0181% (rounded down to 4 decimal places).

Principal: £1m @ 235.44
£2,354,400.00

Accrued interest

Next coupon amount (£1m x 3.0181%): £30,181.00


Days elapsed (22 July – 5 September): 45


Total days in coupon period (22 July – 22 January): 184


Accrued interest: £30,181.00 x 45 / 184
£7,381.22

Total
£2,361,781.22

	Conventional bonds
	
	
	
	
	
	
	

	
	
	
	Coupon dates
	Days accrued
	Days in coupon period
	Consideration

	Issue
	Price
	Last
	Next
	
	
	Principal
	Accrued
	Total

	4.00%
	2009
	98.17
	7-Mar-06
	7-Sep-06
	-2
	184
	981,700.00
	-217.39
	981,482.61

	4.75%
	2010
	100.04
	7-Jun-06
	7-Dec-06
	90
	183
	1,000,400.00
	11,680.33
	1,012,080.33

	5.00%
	2025
	108.11
	7-Mar-06
	7-Sep-06
	-2
	184
	1,081,100.00
	-271.74
	1,080,828.26

	6.00%
	2028
	124.48
	7-Jun-06
	7-Dec-06
	90
	183
	1,244,800.00
	14,754.10
	1,259,554.10


Exercise 7

Calculate the interest yield for each of the conventional gilts listed in Exercise 6 above.

Solution to Exercise 7

	Issue
	Price
	Interest Yield

	4.00%
	2009
	98.17
	4.07%

	4.75%
	2010
	100.04
	4.75%

	5.00%
	2025
	108.11
	4.62%

	6.00%
	2028
	124.48
	4.82%


Exercise 8

Calculate the consideration for a transaction of exactly £1m nominal in each of the following gilt strips, dealt on Monday 4 September 2006 for settlement on Tuesday 5 September. 

	Strip
	Yield (%)
	Redemption Date

	4¼% Principal Strip 
	3.981349
	7 March 2036

	4¼% Principal Strip 
	3.663010
	7 December 2055


Solutions to Exercise 8

See page 94 for formula

	
	
	Coupon dates
	Days to next coupon date
	Days in coupon period
	No. of future coupon periods
	Redemption Yield
	Price

	Issue
	Last
	Next
	
	
	
	
	

	4.25%
	7-Mar-36
	7-Mar-06
	7-Sep-06
	2
	184
	59.00
	3.981349%
	31.249249

	4.25%
	7-Dec-55
	7-Jun-06
	7-Dec-06
	93
	183
	98.00
	3.663010%
	16.731790


Exercise 9
From the data presented in Table 3.6 for the 8% Treasury maturing on 27 September 2013 and for the 2½ Index-Linked Treasury maturing 16 August 2013, calculate an approximate breakeven inflation rate for the period November 2005 – August 2013.

Solution to Exercise 9

The nominal redemption yield of the 8% Treasury 2013 is 4.28%, and the real redemption yield for the 2½% Index-Linked Treasury 2013 is 1.63%, but we have to remember that these are quoted on the semi-annual convention, so the approximate semi-annual breakeven inflation rate is calculated as follows:
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The annual equivalent inflation rate is:
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